2 1o A oABCD &= AAZ ot 4,

EC = FD, oPECF = 12cm? € ufj, AAPD
o] Ylo| & “totofet,

m

'ﬁ”U

L
o
=
[

vV V¥
0
L
—
b
Q
£
()

Q

ADEC = AAFD (SAS gH5)olB 2
ADPF = 3%
wtebA] AAPD = OPECF = 12 (cm?)




do]7} 6em 1 A ABCD <
Ho]h‘?
A D
1
7/
/
/
@cm
O
Bl=Z C
@ 9cm? @ 12cm? 3)18cm?
@ 24cm? ® 36cm?
A —D
B 3em
3cng 4
(3) \30{11
/3¢m \
Bk= C
AC =BD = 6em ©] 2 2419 w34-& 0 2 318 A0 = BO =
CO = DO = 3cm ©]11, ACLBD o]t}
- OABCD = AABO + ABCO + ACDO + ADAO = (= x 3 X
3) x 4 = 18(cm?) o]t}




3. t& 1¥9A nABCD & AAFZMSo] 1, /EAD = 70°, AD = ED
g, 2x & 2717

@ 10° @ 15° 3@ 20° @25° ® 30°

OJABCD = ?ﬁx}ﬂﬁg o]E2 AD = CD = DE °]1 ADAE &
o] SHAIZIo| B2 /EDA = 180° — 70° — 70° = 40° o]t}




02 -4 BP: PC=1:2 CQ: A
QA =4:19°|t}t AABC = 30cm> ¥ o, Q
AQAP 9] Wo| & Totoiet.

B P

BP:PC=1:29°]1 AABP S} AAPC Y] o7t 2oz
% 2
AAPC = § X AABC = g X 30 = 20( sz)

CQ:QA =4:19]1 AQPCS} AQAP Q] Eo|7} ZHong
AQAP = é X AAPC = % x 20 = 4( cm?)




Z5Ccm-"N

3cm

A
/

AHZFe ABCD ©f|A4] AB

Z
I HE
iz

=

sl

:Il

%ok BC ¢ ED ¢

i

7;]
o, AFEC 9] Ho]

O
F 2t

M RO o
o_uﬁm_n .
™ol Har

10

Xx3X4 =6 (cm?)

6 cm?

1

2

S ABFD = AFEC °o|B2

=

=
AFEC

BD




th& 1904 AC//DE ¥ ], AABC = 8cm? ©|t}. oABCD 9]
B o] & atofet.

D

~~4cm-"C>3em”

&)

= cm

| 2
> ®E . 14cm?

S5 ,
AACD = AACEO| B2
oABCD = AABC + AACD
= AABC + AACE
= AABE

(=°]) =8x2+4=4(cm)
(Ho]) =7x4+2=14(cm?)




the 1T o] BaPAPHE ABCD 9 7t §19] S-S ot AF <F
CE, AG ¢ CH o w3& 247 P, Q 2t & u, 0ABCD £ A ¢J 3t
HYPAHF-S 0AECG , oAFCH , DAPCQ ©|t}. Z12+e] F3yApd
Fol B 270 AR de 227

® 6,0,© ® @60 ®e.6.0
® 3,0 6 6 0 6 6

DAECGE AE//GCo|1
ODAFCHE AH //FCo|1 AH = FC o]
ODAPCQ+= AP //QColx ]




8.

AB = 100m¢! HFAHY ABCD & A P
EANAB A Wz 5me] £E2, H Q
E7mo £E2 C oA D 2 o535t Qlet.
P7FAEEERH42 T Q7tHCE S
et oAPCQ7F B3AHE 0] H= A2
Q7F ¢t A H = FA717

ORES @ 8 = @10% @12z (G115 x

B

DAPCQ 7F BRAAF O] =27 AP = CQ 7 Hlojof stRz
Q 7} o158 A7 x (&) 2 5FH P 7} o] 57 AT x + 4
(%) ol

AP =5(x+4), CQ="Tx,5(x+4) =7x

. x=10 (&)o]t},




AB = 100cm ¢ H3PAHSY ABCD oA & A

D
PLAB—HEJ_ﬁZlcm-/]—‘—EEAOﬂHE f
Jolol B&oe HQEuzTom ol Swr ) Q
CD A= C oA %‘Qo}@DﬁOE 27 o)1 J
Ak Pt EAd A 9 = $o Q 7t AT P ¢
o, 2302 AQ//PC 7} Hl&= A2 P 7t 4% 2] 2 = 3304

Tohof et
= =

| 2
> H™eh: 21 %

B ~

Q78 r = 59

P 7} 2291 712 : AP = 4(9+1)

Q 7t AN A : CQ="1t
AP=CQolX 4(9+1) =Tro|BR 1 =12
L1249 =21 (%) ot}




10.

the 183} o] AB = 10cm, /B = /C Q1 47} ABC ] ¥ BC
9ol ot A P ol v A = ¥ e Ao v Z42E D, E 2Rl
gt PE + PD = 8cm ¢ w, 412+ ABC ¢] Yo]& 2stoia}.

A

AP & 119WH AABC = APAB + APAC

1><10><x:1 IOxﬁ—l—lxleﬁ

2 2 2
x=PD+PE=

whabd 412+ ABC 9] Wolk - x 10 x 8 = 40 (cm?) |tk

1
2




11. o} J%)A aAABP = 2aACP ©o|t}. PD = BD ©|X PD = 6cm &
o, CD ¢] Zo]& Fstoiet.

A
P
Be— D C
> E: cm
> He. 6 cm

B

AABP = AACP 9J|A]

PB =PC,AB = AC, /BAD = /CAD °|2&
AABD = AACD(SAS) &5

u2hA] /ADB = /ADC

.. LADC = 90°

-~ PD=BD =CD = 6(cm)




12. o5 o4 AABP = aAACP ©|t}. PD = BD °o]1!
o, CD ¢] Zo]& Fstoiet.

A

>
> HE. 16cm

3
-,

AABP = AACP 9J|A]

PB =PC,AB = AC, /BAD = /CAD °|2&
AABD = AACD(SAS) 35

u2hA] /ADB = /ADC

(ADC = 90°

- PD = BD =CD = 16(cm)




13. 2 T3ofA H 1= AABC 2] YAe]al /ABC = 60°, /BCA = 70°,
AHL1BColt}. /IAH : /BICE 7P 7Hetst J4=2] H] x: y 2 YEFY
2 o, x+ y 9] = Fotof=t

A

\VARR 4
0
i

24

LA =180° - (60°+70°) = 50°0|2E /IAB = 25°°]t},
/BAH = 90°-60° = 30°°] 22 /JAH = 5°9°]|t}.
/BIC =180° - (30° +35°) = 115°0] 22 x:y=1:23




14. o3 "4 H 1, 'S 22 AABC, AADC 9] WA o|t},

72°,.C = 34° 4 W, AT ] 37]E Fotofet

A
\\

\VARR 4
0
i

37°

/B =

~&B

/IAD = %ABAD
1
/I’AD = ézDAC

s LIAL = %ABAC = — (180° — 72° — 34°) = 37°

1
2




15. YA ABCD oA H 1, I' 2 22 AABC, AACD 2] Alo]tt,
(B =48° 4 o, LAIC ¢} /AT’ °] A7]9] A& stofet.

A D

AAIC:90°—|—%AB:90°+%X48°: 114°
1 1

AAY = 5 /BAD = o x (180° - 48°) = 66°

- LAIC — /IAT = 114° — 66° = 48°




16. WPAPHY ABCD oA & A P, Q&= 2tz
H BC, CD 9] F-Ho|t}. oABCD 9] Yol
7} 64cm? 4w, AAPQ 2] Ho]=?
® 16cm? @ 20cm? @24cm2
@ 28cm? ® 32cm?

~&B

AAPQ = 64 — (16 4 16 + 8) = 24 (cm?)

AABP = Z—ILDABCD = ;1 64 = 16 (cm?)
AAQD = %DABCD = le X 64 = 16 (cm?)
APCQ = éDABCD = % 64 = 8 (cm?)




17. v BIAEY ABCD 9] Wol= 120 cm?

A D
ol BCY ZASAP.AQ : QP =2: 1 Y
o m), oQPCO 9] §olZ Fstoiat,

[

= cm

>
> HehD 20cm?

~&B

AAPC = %AABC

1 1

11 ,
—5)(5)(120—30(01’11)

APCO = AAPO = %AAPC

= % x 30 = 15( cm?)
AQ : QP =2:10]B&
AQPO = %AAPO = % x 15 = 5(cm?)

. OQPCO = APCO + AQPO =15+5
= 20(cm?)




18.

H YA ABCD oA = A P, Q = ztz+
H BC, CD 9] F-4oltt. mABCD 9] Y]}t
32em? & o, AAPQ 9] HWolE 5tofzt,

= cm

>
> HE 12cm?

A

~&B

AABP = A—iuABCD = i x 32 = 8 (cm?)

AAQD = iDABCD = le X 32 = 8 (cm?)

APCQ = éDABCD = % X 32 =4 (cm?)

AAPQ =32- (8 +8+4) =12 (cm?)




